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Solving Multi-Step Equations
2-3

Reteaching
To solve multi-step equations, use properties of equality, inverse operations, the Distributive Property, and properties of real numbers to isolate the variable. Like terms on either side of the equation should be combined first.
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a) What is the solution of –3y + 8 + 13y = –52?
	–3y + 13y + 8 = –52
	Group the terms with y together so that the like terms are grouped together.

	10y + 8 = –52
	Add the coefficients to combine like terms.

	10y + 8 – 8 = –52 – 8
	To get the variable term by itself on the left side, subtract 8 from each side.

	10y = –60
	Simplify.
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	Divide each side by 10 since y is being multiplied by 10 on the left side. This isolates y.

	y = –6
	Simplify.

	b) What is the solution of –2(3n – 4) = –10?

	26n + 8 = –10
	Distribute the –2 into the parentheses by multiplying each term inside by –2.

	–6n + 8 – 8 = –10 – 8
	To get the variable term by itself on the left side, subtract 8 from each side.

	–6n = –18
	Simplify.
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	Divide each side by –6 since n is being multiplied by –6 on the left side. This isolates n.

	n = 3
	Simplify.


Solve each equation. Check your answer.
	1. 4 – 6h – 8h = 60
	2. –32 = –7n – 12 + 3n
	3. 14 + 12 = –15x + 2x

	4. 8(–3d + 2) = 88
	5. –22 = –(x – 4)
	6. 35 = –5(2k + 5)

	7. 3m + 6 – 2m = –22
	8. 4(3r + 2) – 3r = –10
	9. –18 = 15 – 3(6t + 5)

	10. –5 + 2(10b – 2) = 31
	11. 7 = 5x + 3(x – 2) + 5
	12. –18 = 3(–z + 6) + 2z


13. Reasoning Solve the equation 14 = 7(2x – 4) using two different methods. Show your work. Which method do you prefer? Explain.
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Solving Multi-Step Equations
2-3

Reteaching (continued)
Equations with fractions can be solved by using a common denominator or by eliminating the fractions altogether.
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What is the solution of 
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	Method 1
	Method 2

	Get a common denominator first.
	Multiply by the common denominator first.
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	3x - 8=7

	
[image: image13.wmf]
	3x = 15

	x=5
	x = 5


Decimals can be cleared from the equation by multiplying by a power of ten with the same number of zeros as the number of digits to the right of the decimal. For instance, if the greatest number of digits after the decimal is 3, like 4.586, you multiply by 1000.
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What is the solution of 2.8x – 4.25 = 5.55?
	100(2.8x – 4.25 = 5.55)
	Multiply by 100 because the most number of digits after the decimal is two.

	280x – 425 = 555
	Simplify by moving the decimal point to the right 2 places in each term.

	280x = 980
	Add 425 to each side to get the term with the variable by itself on the left side.

	x = 3.5
	Divide each side by 280 to isolate the variable.


Solve each equation. Check your answer.
	14.
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	15.
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	16
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	17. –1.68j + 1.24 = 13
	18. 4.6 = 3.5w – 6.6
	19. 5.23y + 3.02 = –2.21


Prentice Hall Algebra 1 • Teaching Resources
Copyright © by Pearson Education, Inc., or its affiliates. All Rights Reserved.
30
_1245228352.unknown

_1245228356.unknown

_1245228358.unknown

_1245228359.unknown

_1245228361.unknown

_1245228357.unknown

_1245228354.unknown

_1245228355.unknown

_1245228353.unknown

_1245228350.unknown

_1245228351.unknown

_1245228349.unknown

